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Unit 2 Test Review

1. Given the following chart, if we add the given points to it, will'it remain a function? Say why or why
not for each point.

X -2 0 5 8 13
y ) -4 A 127 - -8

a) 39) Yes, S isat o repeated x.
o) 87) Mo. ¥ s e lTewdy Tape vk 1 o 7.
c) (13,-3) ?}/’65 . (his ;/‘)O“’{' ‘s ﬂ/ﬁ“j?’ C‘/mr/f)/“’!;efT in fhe chart,

2. Solve the given systems by the requested methods:

16x+7y=5 _ lbx+2=5 | 3x-y =10

a) Eliminatio e b) Substitution:
) El | QSX 3)/—-]7§ () h‘”‘”w? 3V 7/ ) y=4x-11
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3.1s (5,9) asolution to 12 -4x >24 2 Why or why not?

L~4(s) > 2§ Mo TH reselts as a Tl
,‘,1—7102_&:( g“}\:a"/‘{/"ﬂ’/lgf— ‘4/‘\(/1 \/0" /)/1/\<7

4. Zion is buying decorations for Homecoming. Balloons cost $7 a pack and streamers are $12 a

pack. If the decorating budget has $250, write an inequality for the cost of balloon and streamers
‘ that they can buy 0 5y o

i < # U': bé ”00"\5 l'A)/ 3'41

5':"&(_)F S‘-/r'zmﬁ’/‘; bO«gl«."" 7 £) )t ’(;; S {; //; SO

5. You are on a farm that raises cows and chickens. If there are 20 animals total, and the animals

have 56 legs in total (assume a standard number of legs for the animals), how many cows and how
many chickens are there?

' Tm+dc = 56 o Yut)e =S¢ M4C=20
!{‘\:ﬁu%(_‘uws o : s N i
" ,A 3 Mt e =20y 6 'f’.f,\“c =Y - ¥ke=do
C -~ K o‘¥ (,L\M,ku$ E :)\p\-\ =1 T

ITAerz re gcw,; C’(,\Oﬁ /:,L (,l/7’<z/'(¢'/1‘} / ‘/\\:g{
6. Solve the following equations for the requested variables:
a) r=fh+c; h b) P=2L+W); L
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Se=sil

7. Find a, for the arithmetic sequence 7,3,-],...

Q,,:» 01,+01(.4" ”
O > D=4 (2-1)
Op=T7=Yq+Y

|00z =tastl [
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8. f(x)zgx—4 , ot
3 5
a. Domain: (”Qoz ¢ ) b. Range: (vaea_, 90) 4
c. Increasing or decredsing¢ | Lacreas i - 2d
i C Nerea : -
g B , 9 - q; AN AN i *47; g
d. x-intercept: (o ; 0) e. y-intercept: (0~ ) _:
X—> =20 flx)—> —29 b
e. End Behavior: "
x> 72 fix)> 22 H
MO.._‘__‘ (/’ ¢) c = }
f. Rate of change from [-3,6] __(.=(-3) 9 ~ "7

7
H(;”/) 7%‘**}) ﬂc S”./o/)x’,.’

9. What is the 10" term in an arithmetic sequence whose third term is 17 and whose common

differenceis 82 % ) _'i__!_/Q) 17 GQ.~c,+d(a-1) Q,,: 3¢7)
d: .1 /;k”/ -1 Ofo = 3'?' K( !U‘i) :

¥ . QLU = 75
G,=3 bio = 3+%(9)

10. Convert the following sequences between explicit and recursive:

a) a, =7n-11 b) a,=a, , —4a,=6
ol=7 d=-4  C.:q,+dG-1)
(3“17(”.,/}__1'1 . Go: G=4(-1)
- A= 6=Ha4 Y
| Ga=a,., 75 0 ( [Ons ~qario ]
. 11. Given the functions f(x) = 3x* —4x +19 and g(x) = 6x+35
o) gi8)= ((%)+3< o) fi-4)= 3(-4)*— Yy} 419
5(0= 15 +3S Fu) = 3(16Y) ~Y(-4) 19
()= €3 Fed)= Ys £ +19
— ];5\(«‘1\‘:%3
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